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05 XMXIEM2ARES 0 6,000 6,000
OZZM=XDI3 Al &3 23 0¥ 0 6,000 26,000
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201 LEH2HH| 1,892 1,992 A 100
01 AtE22(H] 1,892 1,992 A 100
Olger=84l] 1,010 1,110 A 100
OO HAIKE(Z0aE)
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S 104 104 0
= 105 104 1
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OBOHITA oS K
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S 104 104 0
= 105 104 1
o A= 961,147 914,012 47,135
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= 144,172 137,102 7,070
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= 7,400 6,200 1,200
= 78,424 77,340 1,084
HASA=2E N 29,238 25,238 4,000
= 5,419 5,419 0
= 6,400 5,200 1,200
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i 287,650 204,500 83,150
2EHUSH 314,770 231,620 83,150
= 27,120 27,120 0
i 287,650 204,500 83,150
2ECHMAA 30,900 16,500 14,400
201 LetEEl 475 500 A25
01 AtR 22/t 475 500 NP5
olger=gtl] 475 500 A25
O3=3EE9 o [EHIIEHE(206E2)
ZE 475,000& 14 475 500 NP5
307 212t01& 25,925 11,500 14,425
04 QIZHAAIE X 25,925 11,500 14,425
OB.2531 87t SIZH HAKIE (20l aE2)
Z & 900,000& * 14! 900 1,000 A 100
Odtld EEE Zti X2 (20&E2)
Z& 1,350,000& = 14| 1,350 1,500 A 150
Os=E&9 g FEHAX (204LE)
Z & 3,675,000& * 14 3,675 4,000 A325
O2&HH S==d #HAXEH
Z& 4,000,000& * 5IHEHA 20,000 5,000 15,000
HERSAXA 207,000 144,000 63,000
301 et as 207,000 144,000 63,000
01 A2EFH 0= 207,000 144,000 63,000
OBHSTI HHHU+Y
2 & 30,0003 = 55001 = 123 198,000 135,000 63,000
31Z JIEg™8A XI& 4,750 5,000 A 250
307 S12t0I& 4,750 5,000 A250
04 QIZtHALE X 4,750 5,000 A 250
O3.1& JIG&A XA (20aE2)
Z& 4,750,000 = 14| 4,750 5,000 A 250
SSAE FH 6,000 0 6,000
401 Al&HIZL=ROHYI 6,000 0 6,000
01 AlZHI 6,000 0 6,000
OgAZ22U 3.12s J1&8H HBIAY
6,000,000& = 14 6,000 0 6,000
s s4 8,779,455 7,362,752 1,416,703
= 400,000 400,000 0
Il 1,191,670 1,187,638 4,032
= 7,187,785 5,775,114 1,412,671
HEAE &5 6,820,492 5,448,731 1,371,761
= 400,000 400,000 0
Il 1,100,000 1,100,000 0
i 5,320,492 3,948,731 1,371,761




SN FOIMET D
Hu: JSMY 84
SRl HSAA =5 R
SN -BH - S(B) - MRAY - BES Ofl &k 04 o s HRE2
MSAL 851 2 F 157,600 108,000 49,600
401 Al Bl L2 Thbl 157,600 108,000 49,600
01 Al 157,600 108,000 49,600
OHSZH 2 SUMSAE STRBL(2HLE
2) 2 7,600,000 * 14 7,600 8,000 £400
OMSHSAL &X
A 150,000,008 * 14 150,000 100,000 50,000
S-8 NOEST £X 2 F) 361,368 261,440 99,928
401 AlEBIZ 2 ThY| 361,368 261,440 99,928
01 Al 365,000 260,000 95,000
OlAI&HI] 365,000 260,000 95,000
08 - BIHOIEST X (ST (2UME
o A 185,000,008 * 14 185,000 200,000 A15,000
O NOIESY oIS &X
85,000,008 * 15 85,000 0 85,000
oDl HOESH oIS &1
2 85,000,000 + 141 85,000 60,000 25,000
o2 22l 5,000 0 5,000
O NOIESH x| 2ol
5,000,0008 * 141 5,000 0 5,000
03 Al Chl 1,368 1,440 AT2
OS2 NOIESY XU (ZHAED)
A 1,368,002 * 141 1,368 1,440 AT2
HOIESH AR+ 4,750 5,000 A250
401 Al Bl L= Thb| 4,750 5,000 A250
01 Al&t] 4,750 5,000 £250
OHNOESE ANERNBL(2HLED)
A 4,750,000 * 141 4,750 5,000 A250
FVHSHE HY 2,200,000 1,100,000 1,100,000
] 1,100,000 1,100,000 0
2 1,100,000 0 1,100,000
401 Al Bl L2 Thbl 2,200,000 1,100,000 1,100,000
] 1,100,000 1,100,000 0
= 1,100,000 0 1,100,000
01 Al 1,996,976 426,570 1,570,406
OLA&HI] 1,996,976 426,570 1,570,406
ORMSHE A
A 1,996,976,0008 * 14 1,996,976 426,570 1,570,406
] 896,976 426,570 470,406
= 1,100,000 0 1,100,000
02 22l 200,000 670,406 470,406
OROIHSHEAE 22yl
2 200,000,008 * 14 200,000 670,406 470,406
] 200,000 670,406 470,406




A FRIMEX A
M MY 4
HEAE 25 el dd

Ao BB ERI(BI) - MIRAY - B S Abod o1& o =
HESENSALEHE 8,483 0 8,483
201 Let2d| 8,483 0 8,483
02 =234l 8,483 0 8,483

Ool222a ¥ HMAl] 8,483 0 8,483
OSUESSHSME HIIGHE Ha+4R
163,680& =+ 12& 1,965 0 1,965
Os0E=SHSME @R
454,910& * 128 5,459 0 5,459
OSUE=SRUKHE 44523
1,260& » 70& * 12& 1,059 0 1,059
S2eSE UXAMOFAE X 284,000 300,000 A 16,000
401 Al&HI LR OHYI 284,000 300,000 A 16,000
01 Al&H| 284,000 300,000 216,000
OMB2RZY AERUTE LT (KA (=0
AHE 2 2 & 284,000,000& * 14 284,000 300,000 A 16,000
IMs3d =XE X 130,000 0 130,000
401 Al&HIZL=ROHYI 130,000 0 130,000
01 Al&H| 130,000 0 130,000
O[EXoil] 130,000 0 130,000
OJMSTH FXE XML
130,000,000& * 14 130,000 0 130,000
s |4 1,056,380 1,034,882 21,498
Il 91,670 87,638 4,032
= 964,710 947,244 17,466

MNEMENSE Z2H 16,938 17,829 A 891
307 QI2t0IA 16,938 17,829 A 891
02 BItAAEX 16,938 17,829 A 891

00210l MSDnA(2HNEY)

23 4,828,000 * 14 4,828 5,082 A 254
OHAE MBS (20 L4EY)

dE 4,756,000& * 14 4,756 5,006 A250
OO EMENS ST (20I4E)

ZE 2,598,000& * 14 2,598 2,735 N137
OB=HZUE 2 (20I42)

Z2E 4,756,0008 * 14 4,756 5,006 A 250

MEH=E 43 X2 232,765 238,700 25,935
301 YptsBazg 185,245 157,100 A 1,855
08 2API=H Y| 10,645 12,100 A 1,455

OAZZOIE AVEHOLI (20
Z2& 10,645,000 * 14 10,645 12,100 A 1,455
1 HsH - 2SRSELS 132,600 133,000 A 400
OFZUEEIN CHE SHAH LA (20 AR
Z) Z2& 3,600,000& * 14 3,600 4,000 A 400




SN ZEOIME A D
HH: MSMY F4
ool MEIS S4 GRS
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 I H o HRs2
307 RI2HOIH 68,020 71,600 3,580
04 SIZFSALE X 68,020 71,600 23,580
OMEIS B3 XA(Z0L4E)
Z & 28,500,000 14l 28,500 30,000 21,500
OASSH ZINEH (20 ARY)
A 31,350,008 * 1A 31,350 33,000 A1,650
OXHZY A2 ASDE L2S(20LE)
Z2E 4,750,000& * 14 4,750 5,000 A 250
OXNHZY A2 ASDE ZH(20IL4EY)
2 3,420,000& » 14 3,420 3,600 A 180
308 XX HHSOIA 9,500 10,000 A500
06 WIS EExS 9,500 10,000 A500
O £ ZSsD S 2 4BHSELE
EEXZ(20AE2HE 9,500,0008 * 14! 9,500 10,000 A 500
2AZ HSWE X 373,000 368,000 5,000
307 RI2HOIE 373,000 368,000 5,000
04 SIZFSALE X 373,000 368,000 5,000
O+ S2gis XN 5,000,000& = 13l 5,000 0 5,000
COMA X 211,000 191,000 20,000
307 QI2t0IA 176,000 156,000 20,000
04 QIZHHALE X 176,000 156,000 20,000
OASs Ya= 7 400,0002 * 509! 20,000 0 20,000
MEHSWY 29 19,450 14,500 4,950
307 212t01& 19,450 14,500 4,950
02 QIAALBE 19,450 14,500 4,950
OMeHs naad J3E 18,500,000 * 14 18,500 13,500 5,000
OZRMZEDA TA BH BH(20IL4E)
Z & 950,000& = 14 950 1,000 AB0
MEMS XA 154,560 146,496 8,064
| 77,280 73,248 4,032
2 77,280 73,248 4,082
307 212t01& 154,560 146,496 8,064
| 77,280 73,248 4,032
i 77,280 73,248 4,032
02 QItAASE X 154,560 146,496 8,064
OMERISNCK HHXI AL
Z2& 110,400,000& * 14 110,400 104,640 5,760
| 55,200 52,320 2,880
2 55,200 52,320 2,880
OLoIEY MBASNTK BHX AL
Z 3 44,160,000& 14l 44,160 41,856 2,304
| 22,080 20,928 1,152
= 22,080 20,928 1,152




S EOIMETIR D
Ha: HSMY S4
el MBS S4 (el @g
A -3 -H2A(SH) - HEAMY - BES O AF K I & Hlws2
NER2Y 28, 110 37,800 ~9,690
301 YBrEA3 28, 110 37,800 A9,690
1 tlzoe - 2s2sPAaz 28, 110 37,800 £9,690
OBE L 2= DX NHI(ZHAE)
2 3,420,008 * 14 3,420 3,600 A 180
OUSHI (2 AEZ) ZEH 4,000,002 * 14 4,000 6,000 A2,000
OWBIZH EIHOIHI (Z0lAE2)
AE 11,490,008 * 14 1,490 15,000 A3,510
OS4ME QIMEIE(Z0AE)
27 8,000,008 * 14 8,000 12,000 A4,000
AL 2o 902,583 879,139 23,444
AURISE, 20T 2232 795,563 771,219 24,344
201 Y2 Ay| 56,767 47,313 9,474
02 Z2=2ZY| 56,787 47,313 9,474
Ol=ZZ22 ¥ HAl 43,844 34,644 9,200
OAUMSE Wiy I3
2,9008 * 500kw * 62 8,700 0 8,700
OMUMSE MIILH HE HIBA 48
500,002 * 18] 500 0 500
O[HZHl] 4,279 4,729 A450
OARA, =XA AR (RHAE)
2H 2,383,008 * 14 2,383 2,833 A 450
O[AI& YIS XIHI] 8,664 7,940 724
OCAURISE L 2B A2 S|
2 5,940,008 * 14 5,940 4,500 1,440
CAUNSE THEH SNzl (2o az
2) 2% 1,334,008 * 14 1,334 2,000 666
OAHH SXBaH (204
24 350,000 * 14 350 400 A50
206 M2l 3,420 3,600 A180
NIED 3,420 3,600 A180
OMEI| ZZH SEPY(ZOAME)
2R 1,320,008 * 14 1,320 1,500 A180
401 AEHIL S0 714,450 703,000 11,450
01 Al&d| 714,450 703,000 11,450
OR0Is|2 231004 SEFH| BRATA(Z0
=) AH 2,850,008 * 14 2,850 3,000 A150
ORI 2 Halofa A 2Rys
2,000,008 * 14! 2,000 0 2,000
ORI P S 24T P4
2,000,0008 * 14! 2,000 0 2,000
OMUHSZ - 2032 28 QHUEABEX
2,000,000% * 20 A 4,000 0 4,000
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